CAT 2019 - BIOTECHNOLOGY

Which one of the following is mos: similar to construction of DNA chips?

(A) PCR

(B) Northern blotting
(C) Semiconductor
(D) Electrophoizczis

The globuiar structure of a protein with one polynepiac -3 its

(A) Primary structure
(B) Secondary structure
(C) Tertiary structure
(D) Quaternary structure

Triticale is a food plant v. ~ose parents are

(A) Rice and wheo

(B) Rye and Farley

(C) Wheat end = ize

(D) Durun: wheat and rye

Bia'ophos herbicide reist~ - ~e I conferred by

(A) Hygromyc.n phc who transferase
(B) Neomvcin ph nho transferase

(C) Phospwun < ricin acetyl transferase
(D) cety '~hcline esterase

rbcl g e used for barcoding of plants is located 1z the

(A) Mitochondria

(B) Chloroplast

(C) Nucleus

(D) Transposable element

;
gcollegedunlas
India’s largest Student Review Platform



10.

11.

Conversion of floral organ to leaf-like structure is known as

(A) Phyllody
(B) Petalody
(C) Emody

(D) Modality

An agent that causes phyllody is

(A) Bacteria

(B) Fungi

(C) Virus

(D) Phytoplasma

Most commonly used gene for constr 'ction « f iicrobial phyloger.etic tree is

(A) 5STRNA
(B) 16S rRNA
(C) 18SrRNA
(D) 23S rRNA

Albert Laskar i~_ ‘s awarded to ti nse wl o excel in the

(A) P.-at Science researh
(B> Biouw ~hw.0logy

(C) Bas‘c medical rose- . h
(D) Muthematica -esearch

The virus thau 1s .. ked to cervical cancer is

(A) osten.-Barr Virus

‘) Hu. zan Cytomegalo virus
(Y 1“aman Herpes Virus 8
(D) Human Papilloma Virus

The micro-organism that fixes nitrogun non-symbiotically is

(A) Rhizobium japonieum

(B) Frankia sp.

(C) Azospirillum sp.

(D) Azotobacter chroococcum
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12.

13.

14.

15.

16.

17.

Adenosine deaminase deficiency leads to

(A) Gout

(B) Lesch-Nyhan syndrome

(C) Porphyria

(D) Severe combined imrmuao deficiency disease

A cross is made between two parents, both with genotype Aa. W hat is the probohility ‘hat
an offspring will have the genotype AA?

(A) 0.123
(B) 0.250
(C) 9.500
(M) 0.750

The insertion of three nucleotides into «.> open reading *wnie ~annot result in

(A) anonsense mutatior

(B) a frame shift mutat, »n

(C) amissense mirtation

(D) the destruction 01 .. "onsense M tation

Which of the Hllewing cell ergan lles 1s concerned with acrosome formation jn sperms?

(A} Lysc ~mae
(EN Mitnchondria
(C) “cntriole

(D) Golgi bod

Whict one o "the following is an essential fatty acid?

\.- Lin_ienic Acid
Ry uieic Acid

(C, Arachidic Acid
(D) Palmitoleic Acid

One of the following is not an entonopathogenic fungus

(A) Baeuveria bassiana
(B) Metarrhizium anizoviiae
(C) Trichoderma viride
(D) Verticillium: lecanii
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18.

19.

20.

21.

22.

23.

24.

Alpha-ketoglutarate serves as one of the keto-substrate in the formation of

(A) agropine
(B) nopaline
(C) octopine
(D) histopine

This hormone is diffetent from other hormones in its physical sic ‘e

(A) Gibberellin

(B) Ethyienz

(C) Indole acetic acid
(D) “Zeatin

The purpose of Meselson and Stahl e: perimc nt in whick they grevv E. coli on the nutrient
medium containing NH,C1 made using < ‘th<r norma! (N or adioactive nitrogen (*°N) is

(A) to find a bactericida! drug

(B) to prove that DN/ (nd not protein is 'he genetic material

(C) to prove that the DNA -eplicate ir - ~em-conservative fashion
(D) to prove abiogene. -

Which one ot *the foliowing i< nov ‘rue ur meiosis?

(A} Redu-*on division resulting in ‘n’ number of chromosomes
(EV Cro-sing over

(C) Pairing of hon nlogous chromosomes

(D) Separatior . fchi ~inatids during Anaphase I

Whict one o "the following is most distinct from the othors?

\.-* Inc,.eration
(R} r.atoclaving
(C, Boiling

(D) Pasteurization

The foreign DNA could be covalentiv bonded to a vector plasmid by the enzyme

(A) DNA helicase
(B) DNA ligase
(C) DNA polymerase
(D) Restriction ¢ndonuclease
The Human growth hormone “hGH” is secreted by
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25.

26.

27.

28.

29.

(A) Pituitary gland
(B) Hypothalamus
(C) Pancreas
(D) Thymus

The cells that transport oxygen within the body are the

(A) macrophages
(B) erythrocytes
(C) platelets

(D) leukocvtes

Individual strands of the fungal body are knaw. -~ s

(A) mycelium
(B) hypha

(C) ascocarp
(D) zygospore

Which of these is req .  for aerobic cellvlar respiration?

(A) Carbon i~ e
(B) Sunlight

(C) OG.vgen

(D) Chlo ~=ayll

An organism’s au.'ity . maintain a constant internal condition necessary for life is
known as

(A) Home stzsis
(B) Sabiliyy

\U, Rej roduction
() Adaptation

The terminal electron acceptor during mitcchondrial respiration is

(A) Oxygen
(B) FAD"
(C) NAD’
(D) ATP
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30.

31.

32.

33.

34.

MADS is the acronym from the founding (gene) members of the gene family, namely,
MCM1, AGAMOUS, DEFICIENS and SRF derived respectively from

(A) Saccharomyces cervisiae, Arabidopsis thaliana, Antirrhinum majus, Homo
sapiens

(B) Arabidopsis thaliana, Aniirrhinum majus, Saccharomyces cervisiae, Homo
sapiens

(C) Antirrhinum maiu;, Saccharomyces cervisiae, Homo sciens, Arabidopsis
thaliana

(D) Homo sapiens, Arabidopsis thaliana, Antirrhinu * m ius, Saccharomvc ~s
cervisiac

For the DNA strand 5'-TACGATCATAT-3' the coi =ct complenc “tary DNA strand is

(A) 3-TACGAT CATAT-5,
(B) 3-ATGCTAGTATA-5'
(C) 3-AUGCUAGUAUA-5'
(D) 3-GCATAT ACGCG-5'"

A mature messenger ®NA is ’26 nuclect:Z.~ nag, including the initiator and termination
codons. The number ¢ f un.. 10 acids *: e protein translated from this mRNA is

(A) 111
(B) 112
(C) 1lv
(C) 113

The scientist whc v as a.varded the Nobel Prize in Physiology or Medicine, "for the
discovery that 1. mations can be induced by X-rays" is

(A)  Tinus Carl Pauling
(R) Guorge Beadle

() Y J Muller

(L) Edward Tatum

All microbial contaminants are visibl= by light microscopy except

(A) Bacteria

(B) Fungi

(C) Yeast

(D) Mycoplasma
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35.

36.

37.

38.

39.

Trypsin is a digestive serine protease which is made as a zymogen (proenzyme) in the
pancreas. As it enters the duodenum it is activated by

(A) Hexokinase
(B) Enterokinase
(C) Rubisco

(D) Phosphokinase

Which one of the 1oilowing is an example for non-reduring sugar’

(A) Maltose
(B) Lactose
(C) Trehalose
(D) Cellobiose

Km denotes affinity of an enzyme towa. < its substrate. Vv nich one of the following Km
values depict highest affinity foi a hypcihetical ei. 'me?

(A) 1x10°M
(B) 1x10°M
(C) 1x10"™

(D) 1x 10"

When a rcfor in a centrifug» » .. »s by 2n radians, it actually means that the rctor has
mo/ed by an angle of

(A) «+4>°
(B) 90°
(C) 180°
(D) 26u°

Tre . ~renior of electrophoresis is

(A, Mikhail Tswett

(B) Arne Wilhelm Kaurin Tiselius
(C) Linus Pauling

(D) Thomas Alva Edison
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40.

41.

42.

43.

44.

45.

Microscope used to study the structural details of fungal sheath is

(A) Dark field microscope

(B) Bright field microscope
(C) Phase contrast microscope
(D) Dissecting microscope

X-rays were discoveied by

(A) Pierre Cuiie and Marie Curie
(B) John H. Muller

(C) Wilhelm Conrad Roentgen
(D) Henri Becquerel

Mad Cow disease is caused by

(A) Virus
(B) Bacteria
(C) Prions
(D) Fungi

Chikungunya i~ e~ ..=d by

(A) sicgle-stianded RNA vims
(BY  doudr'e-siranded "NA viru,
(C) single-stranded DM viius
(D) deuble-strena 4 DNA. virus

Transfer of ce'lu... * genetic material from one bacterial cell io arother by means of virus
partic! »s is c. lec

\.. Tra sfection
(R} ) ransduction
(C, Transformation

(D) Transposition

Chronobiology is

(A) A branch of science devcted to the study of biological rhythms
(B) A branch of science azvoted to the study of ageing

(C) A branch of science devoted to the study of historical events
(D) A branch of science devoted to the study of chromatography
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47.

48.

49.

50.

51.

Norman Ernest Borlaug is considered as father of

(A)
(B)
©
(D)

Green Revolution
White Revolution
Yellow Revolution
Black Revolution

If a cat has 38 chromo:omes in each of its body cells, how rnany ~hiomosomes will b
there in each daugnter cell after meiosis?

(A)
(B)
©)
(M)

Which one of the following is OMIEGA ST fatty acid.

(A)
(B)
©
(D)

‘Energy can n2ither be created no. desuoyed but can be converted from one form to

11
19
38
76

Myristic acid
Linolenic acid
Oleic acid
Linoleic acid

another’ ¢ "plairs the

(AN
(B)
©)
(D)

Firs. law of Mew._Cua. genetics
Cirst law ef Tiormodynamics
Beer-Lamoc t lav of spectroscopy
First ... =~ o1 Mtion

‘Fluid M saic Model” was proposed by

(¢
(B
©
(D)

Singer and Nicolson
Robertson
Davidson-Danielli
Watson and Crick

One Svedberg unit is equal to

(A)
(B)
©
(D)

0.1 x 103sec
1.0 x 10sec
0.5 x 10 %sec
1.5x 10"sec
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52.

53.

54.

55.

56.

57.

[-carotene is the precursor of

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

Pineapple is a specific example for plants with

(A) Crassulacean acid metabolism
(B) Hatch-Slack metabolism

(C) The Calvin—Benson cycle

(D) Krebs cycle

L- Citrulline is

(A) an amino acid
(B) amonosaccharide
(C) afatty acid

(D) anucleotide

A single gene vor’__lling many frai s is known as

(A) DMN.nltiple alleles
(BY  Link oe

(C)  Dorninance

(D) Plciotropy

Three-celled poue ' 1s

(A) < male gametophyte
) an.rie gamete

(C) o microspore

(D) amegaspore

An enzyme that stimulates germination of barley seed is

(A) oa-amylase

(B) pB-galactosidase
(C) lipase

(D) invertase
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58.

59.

60.

61.

62.

63.

Which of the RNA has a structure resembling clover-leaf?

(A) rRNA
(B) hnRNA
(C) mRna
(D) tRNA

The recognition site for EcoRI is

(A) GAATTC
(B) CAAGTC
(C) AATGTC
(D) CIGAAT

Microarray is used to reveal the detai’s of

(A) Gene expression
(B) Gene coding

(C) Protein sequence
(D) Lipid profiling

HRP is a glycc ' taat can be e fective ly purified by
(A) L. <tin a1inity chroriatoerap. y
(B>  Met ek late chromatogray hy
(C)  Covalent chrom.~t~ _. ~ohy
(D) Hydroxylanauv ‘e chroraatography
Centre of orign . bread wheat is

(A) . fiddl East

Y Atica
(O J5A
(D) India

Latex is commercially obtained from

(A) Rubber tree
(B) Neem tree
(C) Rhine tree
(D) Banyan tree
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64.

65.

66.

67.

68.

69.

Real time PCR is used to estimate

(A) Translational level of a gene
(B) Replication of DNA

(C) Transcriptional level of a geae
(D) Organization of RNA

Co-enzyme responsibie for one carbon metabolism is

(A) Acetyl CoA
(B) THF,

(C) Piotin

(D) Pyridoxin

The most common secondary messen rer is

(A) ATP
(B) Cyclic AMP
(C) ADP
(D) GMP

According to Ere-_~d’s theory. the weake st acid has

(A) S.-onges’ conjugate Hase
(BY  No «iyugate base

(€)Y Weokest conjugrte L. se
(D) Strong hydro..'de

First product ot g. ‘cogeneolysis is

(A) \<lucose 6 - Phosphate
) Gl ose 1- Phosphate
(O Jlucose 1, 6 - diphosphate
(D) Fructose 1- phosphate

Protein purification can be done by ail except

(A) Centrifugation
(B) Densitometry
(C) Electrophoresis
(D) Chromatographv
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70.

71.

72.

73.

74.

75.

The optically inactive amino acid is

(A) Glycine
(B) Tyrosine
(C) Valine
(D) Threonine

Competitive enzyme 1rhibition will cause

(A) Decrease ”m and increase Vmax
(B) Decrcase Km and decrease Vmax
(C) Increase Km and increase Vmax
(D) increase Km and unchanged Vmax

The powerhouse of the cell is

(A) Golgi complex
(B) Mitochondrion
(C) Nucleoli
(D) Vacuole

The secretion « £« I ary gland may be de: cribed as

(A) E.ocrine and merocine
(B> Enac -rive and helocrine
(C)  Excerine and helor e
(D) Fndocrine and merocrine

Cell that lacks nu. eus is

(A) . vmpl oblast

‘™) Ery lirocyte

(Y Cardiac muscle cell
(D) Leucocyte

The three termination codons are

(A) UAA AAA GGU
(B) UAA UAG AAU
(C) UAA UUU UAG
(D) UAA UAG UGA

;
gcollegedunlas
India’s largest Student Review Platform



76.

T7.

78.

79.

80.

81.

Natural rubber is a polymer derived from

(A) Isoprene
(B) Isoprene
(C) Ethylene
(D) Butadiene

pH of blood and skiu 12

(A) 6.4 and 7.0
(B) 4.0ard 5.0
(C) 50and 7.0
(D) 74and5.5

Water drops are spherical because of

(A) Density

(B) Polarity

(C) Surface tension
(D) Viscosity

Which gas is u-e” .. munufacture v naspa.i from vegetable oil?

(A) C rbon c¢ioxide
(B> Hya.~e2n

(C) Nitingen

(D) Oxygen

Airis a

(A) <Jompcund
™ Co.'ud
(Y Llement
(D) Mixture

Due to rusting the weight of iron

(A) Decreases

(B) Increases

(C) Remains the same
(D) Uncertain
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82.  What is the term used to indicate the growth of new blood vessels?

(A) Biosynthesis
(B) Angiogenesis
(C) Apoptosis
(D) Metastasis

83.  Which molecules arc 1nvolved in the anchoring of cells to 2a exu. ace'lular matriv?

(A) Integrirs
(B) Intericukins
(C) Angiostatin
(D) Cyclins

84. Which of the following enzyme is res »onsib. > for processing HIV proteins during the
production of new viruses?

(A) Helicase

(B) Protease

(C) Reverse transeriptase
(D) DNA polymerase

85.  Anenzyme curried by the flr viru © cawaiyses the following reaction. Which enzyme 1s it?

I.:Ir R Y ':-'H I' "'V‘I-

- . B 2 iy 12
R £ |, o coprotein(ipid) HO £
E e £y "“r." : i ~—(H + Clycoproben
BcHM - e QT AcHN Lo/ or glycoplpid
HO HO
Suabc meid

(A) Pcooagglutiiin
(B) RNA j olymerase
(C) L.TA polymerase
() Neuraminidase

86. The number of moles of solute present ir 1 kg of a solvent is called its
(A) Molality
(B) Molarity

(C) Normality
(D) Formality
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87.

88.

89.

90.

91.

92.

The main buffer system of the human blood is

(A) H,CO; — HCOx

(B) H2C03-CO32_

(C) CH;COOH - CH:COO"
(D) NH;CONH, - NH,CONH'

Aspirin is

(A) Ethyl salicylate

(B) Sodium salicylate
(C) Methyl salicylate
(D)  Acetyl salicylic acid

DNA synthesis occurs during

(A) G Phase
(B) M Phase
(C) S Phase

(D) G;phase

Humans are ur k' » cigest

(A) Pcctin

(BY Con, =« carbobydrates
(C\  Denatured prote =

(D) “cilulose

The synthesis or v, 2akdown of is often coupled with the metabolic
reacti s.

A, O
() LNA
(C. ATP
(D) CO;

A substance that absorbs moisture is called as

(A) Hygroscopic
(B) Amorphous
(C) Hydrophobic
(D) Hydrophilic
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93.

94.

95.

96.

97.

98.

The heat energy produced when the human body metabolises 1.0 gram of fat is

(A)
(B)
©
(D)

Which pyrimidine base contains an amino group at C,?

(A)
(B)
©)
D)

FAD is reduced to FADH, during

(A)
(B)
©)
(D)

Vitamin By, is >=", _/ndesized hy he

(A)
(B
@
(D)

30KJ
39KJ
IKJ

29 KJ

Cytosire
Thymine
Uracii

Adenine

Electron transport phospl orylation
Lactate fermentatior

Krebs cycle
Glycolysis

Iihes

Micy ~~rganisms
Plar ts

A zumals

The nodes of vabu. ge are packed closely together, and all the leaves are tightly clustered

comes under vhich phyllotaxy?

ey
(8
(C.
(D)

Development of petal involves regulated

(A)
(B)
©)
D)

Opr.osite phyllotaxy
\vhorled phyllotaxy
Spiral phyllotaxy

Alternate phyllotaxy

Cell division
Cell expansion
Both (A) and (R
Cell Elongaiion

AN
J
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99.

100.

101

102.

103.

Peroxisomes, a pore forming proteins, in the membranes permit passage of molecules as

large as

(A) 600Da
(B) 500Da
(C) 800Da
(D) 1000Da

RNA polymerasc 1! transcribes

(A) mRNA and a few small RNAs

(B) 18s/28s rRNA

(C) *RNA, 5s rRNA, and other small RNAs
(M) Both (B) and (C)

The 5’ end of eukaryotic mRNA is capp >4 Ly addins which base to the terminal base of

the transcript via a 5°-5’ link?

(A) A
B) T
© C
D) G

What are . 1l the contributinr ¥ _.ors mvolved in cell cycle regulation ensurirg that only

certain cells uivide at ¢ppronriate time?

(A) growth fe tor

(B) Size of cel

(C) Nutiivo. 1 stace of cell
(D) Al “the above

Wha. ‘= the reaction centre for Photosystems I and 117

(A, P700 and P650
(B) P700 and P630
(C) P700 and P680
(D) All of the above
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104.

105.

107.

108.

109.

If a short night plant is given long night, it does not flower. But it is possible to cause

flowering by illumination with

(A) Blue light
(B) White light
(C) Red light
(D) Green light

In plant cell osmetic adjustment during water stress resrits m

(A) net increase in the number of solute particle.
(B) net decrease in solute particles

(C) Huctuations in the number of solute partic'e.
(M Both (A) and (C)

Which one of the following plant belon,~ to C,4 grovrn'

(A) Zea mays

(B) Vigna radiata
(C) Cajanus cajar
(D) Vigna mungo

Which one is the correct order of  ene regulation?

(A) DN PINA-tRNA-Protein
(EN DNA-Protein- -.~-".v.' - RNA
(C) ™NA-mRMA-"NA-Protein
(D) DNA-RN.A mRi A-Protein

Seed Formar. *y *s controlled by a hormonal balance of

«-  Gituerellins

() r.oscisic acid
(C, Both (A) and (B)
(D) Benzyl-adenine

The anticancer drugs vincristine a1 vinblastins are isolated from

(A) Taxus brevifolli

(B) Cathathranthus reseas
(C) Plumbago zeylarica

(D) Podophylloium peltatum
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110.

111.

112.

113.

114.

115.

What is the major storage tissue of pine seeds?

(A) Cotyledons
(B) Endosperm
(C) Megagametophyte
(D) None of the above

The transgenic ‘Golden rice’ produces precursor of

(A) Vitamin i
(B) Vitawir. D
(C) Vitamin A
(D) Folic acid

What for the transgenic ‘Bt cotton’ p1 yducec.?
(A) Drought tolerance
(B) Insect resistance

(C) Pestresistance
(D) Herbicide resistant

Which was the fi= . rar.sgenic anin al?

(A) Dhlly
(B) Zebi ficl)
() Alba

(D) Albino mice

Transport of « suc tance from inside a cell to the outside is cailed as

(A) .xocy osis

™ Endocytosis

(O Loth (A) and (B)
(D) Pericarb

The portion of an antigen to which ar. antibody binds is called as

(A) Adjuvant
(B) Epitope

(C) Effector

(D) Precipitation
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116.

117.

118.

119.

120.

121.

Bioremediation is

(A) Removal of pollutant
(B) Removal of solid

(C) Removal of soil

(D) Removal of chemicals

Sickle-cell anaemia i< caused by

(A)
(B)
©)
(D)

Which of the following cells would b consii ered diffe:entiated?

(A)
(B)
©)
(D)

Scurvy is duz i1~ “.c leticiency of

(A)
(B
@
(D)

Green glands cre .cretory in function which are found in

Recessive genes

Letha! genes

Chromosomal aberrations

n35 genes

Blastomere
Muscle cell
Stem cell
Morula

V.-amin A
Vita, "= B
Vitemin C
Vitamin D

1.%oth
Spler
Scorpions
Prawn

Which step is most important to bind the primers for target region of template DNA in

PCR?

(A)
(B)
©)
D)

Denaturation
Annealing
Elongation
Final extension
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122.

123.

124.

125.

126.

127.

Which of the following is a protein deficiency disease?

(A) Goitre

(B) Rickets

(C) Kwashiorkor
(D) Pellagra

Which gland is responcible for producing high temperature durn. v fever conditinn?

(A) Pitutatery

(B) Thalamus

(C) Hypothalamus
(D) Cerebellum

Which of the following abnormality, esultec from the iueritance of an unbalanced
complement of chromosomes cat be di.xngsed thromg, karyctyping?

(A) Down's syndrome

(B) Turner's syndrome¢
(C) Klinefelter's svndrome
(D) All of the above

In an organisiy, the chromoseme , "umuver is maintained constant because of

(A} Inde, ~mdent assorument
(EV Cro-sing over

(C) ™NA duplica.n

(D) Synapsis

Virus nd di. »asc-free plants are produced by

\.-*  Mic.opropagation

(R} >omatic Embryo genesis
(C, Protoplast culture

(D) Pollen culture

Albinism is caused due to lack of preauction of

(A) Tyrosine 3-monooxygenase
(B) Homogentisic acid ox:idase
(C) Thiamine pyroohosphate

(D) Phenylalanine hydroxylase
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128.

129.

130.

131.

132.

133.

Polio immunising vaccine was developed by

(A) Edward Jenner
(B) Jonas Salk

(C) Louis Pasteur
(D) Paul Ehrlich

Brunner's glands are niesent in

(A) Stomach

(B) Livei

(C) Smail intestine
(D) Large intestine

The following is not a heme protein

(A) Hemoglobin

(B) Myoglobin

(C) Cytochrome P450
(D) Lipoprotein

The enzyme ra i<’ ‘nturconverts ¢ hydro (yacetone phosphate with glyceraldehyder 2-
phosphate is

(A} Glyc. =idehyde pnosphate dehydrogenase
(EV Phosphoglycera.~ .. ase

(C) Triosephosphd ‘e isomerase

(D) Enolase

Micre-atellin s a.e

«- 10-0 bp short sized sequences within the gene
(R} 2-5 base pairs repeated 5-50 times within tie gene
(C, regions of chromosomes after seconda:y constriction

(D) short coding regions on the eukarvctic genome

The set of DNAs generated using 1anaom primers in a PCR reaction is called

(A) RFLP
(B) in situ hybridization
(C) AFLP
(D) RAPD
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135.

136.

137.

138.

139.

The DNA fingerprint pattern of a child is

(A) similar to father DNA print

(B) similar to mother DNA print

(C) exactly similar to both parer:t DNA print
(D) 50% similar to father ai:d rest to mother

‘Human Genome Proiect’ was also focused in identifying

(A) AFLP
(B) RFLP
(C) VNTIR
(D) SNP

Classification of organisms based on ‘voluti nary as weu as gene.ic relationships is

called

(A) Numerical taxonomy,
(B) Phonetics

(C) Biosystematics

(D) Cladistics

Telomerase aces which of the fol, "wing ?

(A} Joins *+_ Okazali iragmen s on the lagging strand

(E\ Catilyzes DNA =~ _ucation at the ends of chromosome
(C) Eunhances tran. criptica

(D) Requires (TP

The o1y me. hylated base in mammals is

\..> Thy.nine
(R} piethyl-Adenine
(C, 5-Methyl Cytosine

(D) 7-Methyl guanine

At which stage of the cell cycle arc histones proteins synthesized in a eukaryotic cell?

(A) During prophase

(B) During telophase

(C) During S phase:

(D) During G2 stage of prophase
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142.

143.

144.

145.

Atavism means

(A) Inheritance of a trait by mother

(B) Inheritance of a trait by father

(C) Sibling shows common character

(D) Inheritance of distinct aacestor not shown by the parents

Filariasis is caused bv

(A) Wuchereria bancrofti
(B) Ascaris lumbricoides
(C) Taema solium

(D)  Fasciola hepatica

Chicken pox is caused by

(A) Varicella Zoster Herpes v irus
(B) Adeno virus

(C) Bacteriophage T2

(D) SV 40 virus

Use of steroids a» I _ntr-histamires ~ive a juick relief from

(A) Hradache

(B> Alle. v
(C) Nausea
(D) Csough

Which one o1 the “Hliowing act as a physical barrier to the entry of micro-organisms in
humar body.

- Teas

(R} >gin

(C, Monocytes

(D) Epithelium of urogenital tract

Enzyme which catalyse binding o1 two substrates by covalent bonds are known as

(A) Lyases

(B) Hydrolases

(C) Ligases

(D) Oxidoreductases
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An allosteric enzyme

(A) is generally present at the end ot the pathway

(B) generally catalyses a reversible reaction

(C) generally catalyses the comraitted step unique to a pathway
(D) possesses only substrite site

Deoxygenerated blcod is carried in

(A) Pulmorary artery
(B) Pulmonary vein
(C) Carotid artery
(D) Aorta

What is the maximum limit of sound ntensit 7 in decibel units wh ch a person cannot

hear?

(A) 65
(B) 75
(C) 85
(D) 95

In a population urrestricted roorodictive capacity is called as

(A} carry ~Z capacity
(E\ biot'c potential
(C) *“ithrate

(D) fertility rac

Red D1ta Bo 'k nrovides data on

«-> Rec rlowered plants

() r.ed coloured fishes

(C, List of plants and animals

(D) Endangered plants and animals
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